
Soluzione esercizio 1
a)

r =
mv

|q|B

v =
rqαB

mα

= 2.59 · 106m

s

b)

ν =
ω

2π
=

qB

2πm
= 0.92 · 106s−1

T =
1

ν
= 110ns

c)

k =
1

2
mv2 = 2.24 · 10−14J

trasformiamo in eV

k =
2.24 · 10−14

1.6 · 10−19
eV = 1.4 · 106eV

d)
∆K = 2.24 · 10−14J

∆U = −∆K

∆V q =
∆K

q
= 7 · 104V

Soluzione esercizio 2
a)

| ~B1| = | ~B2| = | ~B3| =
µ0i

2πd
=

4π10−7 Tm
A

10A

2π10 · 10−2m
= 2 · 10−5T

~B3 + ~B2 = 0

| ~B4| =
µ0i4
2πd

=
4π10−7 Tm

A
20A

2π10 · 10−2m
= 4 · 10−5T

| ~BTOT | = | ~B1| = | ~B4| = 6 · 10−5T

b)

| ~F1| = | ~F2| = | ~F3| =
µ0Li1i5

2πd
= L

4π10−7 Tm
A

10A · 2A
2π10 · 10−2m

= L · 4 · 10−5N

m

1



~F2 + ~F3 = 0

| ~F4| =
µ0Li4i3

2πd
= L · 8π10−5N

m

| ~FTOT |
L

=
| ~F1|
L

+
| ~F4|
L

= 12 · 10−5N

m

2


